Cll# Nhan dang cac phan sd va sb thap phan trén banh xe sé  Ho va Tén:

Gidi cac cau héi. Cau tra 1oi
1) Which choice represents the un-shaded 2) Which choice represents the un-shaded 1
portion of the number wheel? portion of the number wheel? '
2.
3.
4.
5.
0.35 15
A. 0,35 B. /100 A. /100 B. 1,50
6.
85
C. 0,035 D. 3,50 5. D. 15
3) Which choice represents the un-shaded 4) Luya chon nao thé hién phan bong mo cua
portion of the number wheel? banh xe s0?
1 70 70
A /100 B.0.1 A 7100 B. /30
C. 1 D. 10 30 7,00
C." /0 D. /100
5) Which choice represents the un-shaded 6) Luya chon nao thé hién phan bong mo cua
portion of the number wheel? banh xe s0?
65 35 1,00 90
A 735 B. " /100 A oo B. /1o
3.5 10
C. 0,035 D. /100 C.10 D. /100
. 1-6 [83]67]50[33]17] 0 |
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Cll# Nhan dang cic phan s6 va sb thap phan trén banh xe s6  Ho va Ten: Lol gidi

Gidi cac cau héi. Cau tra 1oi
1) Which choice represents the un-shaded 2) Which choice represents the un-shaded 1 A
portion of the number wheel? portion of the number wheel? e
A
. B
4 A
s. B
A. 0,35 B. "0 Ao B. 1,50
D
6.
85
C. 0,035 D. 3,50 5 D. 15
3) Which choice represents the un-shaded 4) Luya chon nao thé hién phan bong mo cua
portion of the number wheel? banh xe s0?
1 70 70
A /100 B.0.1 A 7100 B. /30
C. 1 D. 10 30 7,00
C. " /50 D. " /100
5) Which choice represents the un-shaded 6) Luya chon nao thé hién phan bong mo cua
portion of the number wheel? banh xe s0?
65 35 1,00 90
A 735 B. " /100 A oo B. /1o
3.5 10
C. 0,035 D. /100 C.10 D. /100
. 1-6 [83]67]50[33]17] 0 |
[ Toan HQC ] vn.CommonCoreSheets.com 1




